AR A &M 1) ) ABOAN, (%) KR
oAl ® B A H OV NN
LN S R % E A % i % %
% B 20,524 -3.7 32,666 -8.0 53,190 -6.4
LHELIANA YL 69, 224 3.9 38,439 -3.8 107, 663 1.0
%, 12,900 2.4 11,768 -2.3 24, 668 0.1
® [E1] L 10, 518 1.7 7,208 -2.5 17,726 0.0
il r T 7,094 2.3 5,459 -2.6 12, 553 0.1
I 2] 2,578 5.2 1,413 -6.2 3,991 0.9
i+ H 13,500 -2.2 9,223 3.1 22,723 -2.6
it I {3 297,392 -1.3 139, 764 0.3 437,156 -0.8
7N H 2,984 4.2 2,620] -1.8 5, 604 1.3
En 53 g 22,930 .3 11,765 -2.0 34,695 0.5
i = 20, 482 .2 10,586 -1.9 31,068 -0.5
[i8) Fe H: 37, 868 0.1 25,801 -1.1 63,669 0.4
i) &% 45,174 -1.3 26,101 -3.0 71,275 -1.9
A % 23, 562 0.0 12,940{ -0.5 36,502 0.2
B i 52, 408 0.1 30,436 0.4 82,844 0.1
(N H 37,716] -0.1 17,742 0.0 55,458 -0.1
# H 20,710 -0.5 10,450 -1.6 31,160 -0.9
T 4+ 10,574 -0.3 6,453 -1.3 17,027 -0.7
# e A 90,126| -0.6 52,999 .1 143,125 -0.3
e A 30,660 -0.4 17, 468 L7 48, 128 0.0
=l B A 36,648 -1.0 16,097 -1.1 52,745 -1.0
x Ea] 11,744 -0.1 5,940 -1.2 17,684 -0.5
T A A A 40,608 -2.3 19,495 -2.3 60,103| -2.3
[0 H 10,612 -1.4 5,463 -1.9 16,065| -1.5
— J | 12,284 -1.1 6,026 -1.1 18,3101 -1.1
# H h 42,334 -2.0 30,067 -1.3 72,401 -1.7
£ & B & 7,568 -1.7 2,421 1.0 9,989 -1.0
&l Gl 3,708 2.3 1,619 0.1 5,327 -1.6
RE YA E 21,508 -4.5 10,329 -3.3 31,837 4.1
n Il 2,844 4.3 1,243 -5.1 4,087 4.6
US = 34,102] -2.9 16, 533 0.4 50,635 -1.8
% = 5,368 -0.3 1,873 -2.1 7,241 -0.8
1t iy 8,764 -3.6 2, 364 0.0 11,128 -2.9
i H 10,682 4.3 3,405 -1.4 14,087 -3.6
F H 4 3,002 -2.5 773 4.2 3,775 -1.2
O e [EO 0 | Sy s | G T




R B A RN 2) () ABOAR, [%) WK

il B 43 A g (N o AN B ()

B 4 £ M % E A % 7 % %
P e 10,258 -2.5 4, 330 0.4 14,588 | -1.7
JI % 1,822 -2.1 826 2.2 2,648 -0.8
A N ] 1,256 -2.9 505 -3.1 1,761 -3.0
fE AN 6,302 -3.9 4, 527 2.0 10,829 -1.5
4 Vs B 546 -1.4 175 -10.7 721 -3.9

W 490 1.2 76 5.6 566 1.8
1 JE 462 1.8 284 6.0 746 3.3
woO®R M R 786 -0.8 1401 4.1 926 -1.3
& all il 2,992 -4.0 3,793 -1.5 6,785 2.6
L ) I (V) 488] —6.5 186 -6.5 674 -6.5
£l i 1,916 -0.4 377 1.9 2,293 0.0
X a5} 6, 156 .3 4, 663 0.8 10, 819 0.5
i 7N 2,074 .0 462 2.7 2,536 .1
K W75 1,984 -4.2 489 1.0 2,473 -3.2
it B AR} 358 -5.3 7 4.1 435 -3.8
5 Hy 1,196] -0.3 4591 -6.1 1,655 2.0
il i 1, 206 2.0 131 9.2 1,337 2.7
g B o} 932 -3.3 352 .3 1,284 -2.4
i ] 73 4,580 -1.0 1,535 -2.8 6,115 -1.5
FANE 1,126,504 -0.8 618,326 -1.4| 1,744,830 -1.0
7N T It 7,084 .b 3, 323 1.5 10, 407 3.5
" b T OF 4,134 L7 3,046 -1.1 7,180 -0.1
T N 1,978 -1.9 1,849 -1.3 3,827 -1.6
fa = 16,422 -1.2 9,864| -3.4 26,286 -2.0
I S 29,618 0.3 18,082 -1.9 47,700 -0.5
X fifi il 8, 736 0.0 4,780 -2.0 13,516 -0.7
I b 192 7.9 49| 16.7 241 9.5
S} = 92| 12.2 36 5.9 128 10. 3
14 [i5e il 468 0.0 292 -1.4 760 -0.5
1 e 2,262 0.0 970 3.5 3, 232 1.0
b FS 314 -5.4 89 .5 403| -3.6
H K 1, 006 2.2 95 6.7 1, 101 2.6




R E & #RNe3) AEOAM, [%) WA
i ® B A BN W A B ()
R 4 E % iE 4k % i % %
H " 682| -2.6 280 2.2 962| -1.2
% H 114 0.0 32 6.7 146 1.4
b2 4 820 -10.1 2211 -0.5 1,041 -8.2
e % M F 5,950 -1.4 2,064 2.7 8,014| -0.3
159 L 924 -5.1 169 9.7 1,093 -3.1
ZS el # 8201 -0.2 304 3.1 1,124 0.6
T B 154 0.0 50 8.7 204 2.0
W 74N R 1,222 -3.0 368 4.5 1,590 -1.4
7N R my 304 -13.1 81| -1.2 385| -10.9
i 7N = 896 -2.0 478 -1.2 1,374 -1.7
i P 340| 10.4 108 12.5 448 | 10.9
AN B R 4,660 -2.6 1,558 3.2 6,218 -1.2
= ¥ 1 464 1.8 133 -1.5 597 1.0
wm OR M A 512 -5.9 120 4.3 632 4.1
# 73 630 -0.6 489 -1.4 1,119 -1.0
ff e ES 430 7.7 154 0.0 584| -5.8
Hr Al A& 1,256 -2.9 1,081 -2.5 2,337 -2.7
i e 394 2.6 377 1.1 771 1.8
R Ik 546 5.4 699 0.4 1,245 2.6
A e F 4,232 -1.5 3,053 -0.8 7,285 -1.2
oA & % A 9,192] 5.2 3,361 -1.7 12,553 -4.3
E3 =B 10,612] -0.9 3,941 -0.7 14,553 -0.8
P = & 6,148 0.7 2,519 2.8 8,667 0.3
x 1 7,222 3.4 3,722 2.5 10,944 -1.5
# El i 1,568 —7.7 462| -2.5 2,030 -6.5
el 4 1,188 -1.5 341 -1.4 1,529 -1.5
=l N NI ] 3, 060 1.5 865| -1.6 3,925 0.8
JER [if] 1,182 -5.3 356 4.0 1,538 5.0
ff Fn 1,084 -3.7 389 -1.0 1,473 -3.0
#ooxk OV F 1,658 3.4 955 0.1 2,613 2.1
i A 7,692 -1.6 3, 662 1.3 11,354 —0.7
# i N 2,562 -2.4 1,219 0.2 3,781 -1.6




R B A R4 () ABOAR, [%) WK

il B 43 A g (N o AN B ()
B 4 £ M % E A % 7 % %
= i 5 240 -3.2 63| 10.5 303 -0.7
% th 328 -3.5 73 1.4 401 -2.7
b ;A ) 4201 -0.9 151 3.4 571 0.2
i N 182] -5.2 55| 17.0 237 0.8
e ] 4901 -8.6 48 4.3 538| 7.6
B J n 2,076 -2.6 1,362 -0.7 3,438 -1.9
ik B W 146 0.0 22 15.8 168 1.8
i faf 84| -27.6 20 0.0 104| -23.5
™ 7N R 192] -10.3 35| 2.8 2271 9.2
E fip 238| —14.4 46| 4.2 284 -12.9
T = il 1,314 -6.0 1,106 -2.0 2,420 -4.2
= & Ol 100 2.0 33 .0 133 1.5
) - N = I | 514 -0.8 2,591 LT 3, 105 3.7
H % B 7 59,4921 -2.5 27, 397 0.7 86,889 -1.6
5N 2 I 642 -2.1 299 -2.6 941 -2.3
LS | N 3 330 4.1 100 1.0 4301 -2.9
+ e 1, 754 2.7 53| -1.6 2,307 1.6
e 576 -2.7 297 0.7 873| -1.6
BbbrDEb 1,450 -2.9 1,082 -2.7 2,b32| -2.8
i3 73 852 1.7 391 -1.0 1, 243 0.8
i) i i 1, 206 8.6 1,134 -1.4 2, 340 3.5
1T = = 1, 168 1.7 1,141 -4.8 2,309 -1.6
[EZTS S | ¢ 580 7.0 564 -0.7 1, 144 3.1
R T e 6, 000 0.3 4,194 -2.5 10,194 -0.9
FOHB " B G 14, 558 1.0 9,755 -2.3 24,313 -0.4
X e ] 126 -6.0 47 2.2 1731 -3.9
PN % 134 -19.3 401 -2.4 174 -15.9
H [ 18 2521 -1.6 137 4.2 389 -2.5
/N 1A ik 198] -6.6 93| 19.2 291 0.3
RO IR R 338 -1.7 2,777 5.0 3, 115 4.2
B I | /A T 116] -3.3 179 5.3 295 1.7
Fe iR i 160 4.8 804 7.3 964 5.1
BRI B E 1,324 -5.4 4,077 5.3 5,401 2.4




REHHR () NBEOAM. %) HWiEs e
o ® % A EEON) @B A B (A

R 4 TE ) % E 4 % &t % %
N = 89,534 -2.1 42,1761 -1.0 131, 710 -1.7
1t K = 3, 874 1.9 2,184 -4.5 6, 0568 -0.5
XK =w N H 4, 342 -0.9 5, 655 -2.2 9, 997 -1.6
K Fn H 13, 042 0.0 6, 093 -1.0 19, 135 -0.3
+ H 14,186 -1.5 6,213] -3.3 20, 399 -2.0
Fe) B 23,568 -2.2 11, 781 -2.0 35, 349 -2.2
H b= M 14,610 -2.5 5,514 0.3 20, 124 -1.7
& PES 8,982 -2.8 4,497 -2.3 13, 479 2.7
N K (3 7,516 0.8 2,777 -1.0 10, 293 0.3
w®oo 4 & 4,878 -2.0 2,300 -1.6 7,178 -1.9
2] oA H 9,978 -3.1 4,815 -3.2 14, 793 -3.1
1 ] 11,236 -4.2 6,086 -2.7 17, 322 -3.7
+ bin = 4, 570 2.2 1, 817 2.0 6, 387 2.1
Bk A H 2,246 0.1 1, 962 6.8 4, 208 3.0
% be 6, 400 0.1 3, 087 1.2 9, 487 0.4
LS8 H il 6,556 -1.4 3,805 -1.4 10, 361 -1.4
i bils 11,068| -1.4 5,417 1.4 16, 485 -0.5
JH ) 14, 238] -3.9 6,994 -1.4 21,232 -3.1
T o7 i B 16,278 -2.0 8,168 -4.6 24, 446 -2.8
] ra) 11,916 0.1 5,524 -4.2 17, 440 -1.3
MiLB B ER 32, 194 2.0 20, 212 2.4 52, 406 2.1
&€ | Z= 9, 240 -0.5 5,117 0.0 14, 357 -0.3

el 88,022 -1.6 50,456 -1.3 138, 478 -1.5
Hr el 13,738 -0.7 5,857 -2.9 19, 595 -1.4
pic] )2 8,624 -1.8 4, 409 -2.6 13, 033 2.1
b ¥t 9,238] -0.4 4,802 -3.0 14, 040 -1.3
= i 8,412 -1.5 4,318 0.9 12, 730 -0.7
A =3 10, 364| -3.6 4,959 -1.8 15, 323 -3.0
FeTI S 7S 22,924 -0.3 15, 293 -1.5 38, 217 -0. 8
i r N 14,986 -0.5 7,353 -2.3 22,339 -1.1
55 A N 17,326 -1.3 8,893] -2.8 26, 219 -1.8
% 8] 9, 782 1.7 4,454 -2.8 14, 236 .3
r e & 6, 324 8.5 5,594 0.7 11, 918 4.7
JAS & 75,8501 -0.8 36, 150 2.7 112, 000 -1.5
¥ OH M E 606, 042 -1.2 314,732 -1.4 920, 774 -1.3
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R £ 8o 1) () NBEOAM. %) HWiEs e
o ® % A EEON) @B A B (A
R 4 TE ) % E 4 % &t % %
o 1% 317,298 -1.2 154,834 -0.6 472,132 -1.0
1t H 13 4, 494 1.6 4,427 0.6 8,921 1.1
T b3 1% 8, 682 0.9 6,672 -0.7 15, 354 0.2
x il 26,928 -0.1 22,491 -0.5 49, 419 -0.3
s i 1% 16,484 -0.2 10,477 -1.0 26, 961 -0.5
L x b B 28, 740 0.4 17,924 -0.9 46, 664 -0.1
£ R & 30,478 -0.5 18,806 -1.3 49, 284 -0. 8
"R BB 36,850 -2.4 22,2521 -0.9 59, 102 -1.8
T IR % 8,036 -1.6 8,786 —4.1 16, 822 -2.9
5% pic] 32,938 2.0 24, 791 -1.6 57, 729 -1.9
Fn pin il 111, 952 -0.4 52,110 0.1 164, 062 —-0. 2
5 = 42,242 1.0 21,921 -0.8 64, 163 0.4
Eif] B = 101, 126| -0.9 52, 554 0.6 153, 680 -0.4
& K 67,438 0.0 34, 693 -1.6 102, 131 -0.6
1 WH I 13,432 -3.9 7,242 -3.0 20,674 -3.6
A I ., 26, 660 0.1 14,396 -1.3 41, 056 -0.4
5 M 28,632 1.1 15, 218 2.8 43, 850 1.7
BN C A % 43, 886 0.0 21,018 -1.5 64, 904 -0.5
i & [it] 36, 026 0.5 18,705 -1.4 54, 731 -0. 2
#H 1] == 14,898 -2.2 8,616 -0.6 23,514 -1.6
I B 75,222 -2.5 50, 465 0.7 125, 687 -1.2
1 FE i 25, 068 -0.6 10, 900 0.2 35, 968 -0.3
=5 Va E3] 19,610 -3.2 9,207 -2.3 28, 817 -2.9
5 r = 23,2741 -2.8 10,236 -2.6 33, 510 2.7
P 3 23,846 -1.6 13, 601 -0.8 37, 447 -1.3
5 I 16,656 -1.5 11, 099 0.8 27,755 -0.6
1t 3 Il 13,222 -2.0 6,347 -1.1 19, 569 -1.7
= 3 19,600 -4.7 6,337 -0.6 25,937 -3.7
i3 N ] 20,770 -3.5 8, 798 -0.8 29, 568 2.7
P S NI/ 9,162 -3.7 4,961 0.6 14, 123 2.2
O < D b 3, 380 4.1 1, 061 -0.7 4, 441 2.9
=V A - W 5,536 —4.8 2,237 -3.9 7,773 —4.6
/N i T 7,704 -5.4 3, 165 0.0 10, 869 -3.9
- = VI N 532 0.8 2591 -1.1 791 0.1
7 = 1,406| -5.0 4231 4.3 1, 829 -4. 8




Bt ##WNo. 2) ) ANBOHM. %] i3 siEgins
il B 2 A = (N) wom A B (N

R 4 & M % & WAk % H) % %
2N Vi 814 2.0 271 -1.5 1, 085 1.1
ES I 390 3.2 216 0.0 606 2.0
% e 2,970| -4.2 1,209/ 0.8 4,179] -2.8
w ko E | 1,266,382 -1.1| 678,725| -0.6| 1,945,107 -0.9
- ZN TN 2,918 -1.4 1,123 -0.8 4,041 -1.2
75 N % 3,224 2.7 632] 4.1 3,856 3.0
I £ 13,120 -4.9 1,974 -0.6 15,094 | -4.4
= I E O 2,758] 5.5 1,872 -3.3 4,630 -4.6
R £ = 3,424 -0.1 2,081 -1.8 5,505 -0.7
® oM F R 2,058 -8.9 494 1.6 2,552 7.0
ik sy 2,620 -3.2 1, 231 3.1 3, 851 -1.3
woE R E 30,1221 -3.5 9,407 -0.6 39,529 -2.8
S Nl B

(R ® & #)

7 B Ik R F 1,126,504 -0.8 618,326 -1.4| 1,744,830| -1.0
NS - 29,618/ 0.3 18,082 -1.9 47,700 -0.5
P R - 8, 736 0.0 4,780 -2.0 13,5161 -0.7
S 5,950 -1.4 2,064 2.7 8,014 -0.3
NOROR 4,660 -2.6 1,558 3.2 6,218 -1.2
WooE 4,232| -1.5 3,053| -0.8 7,285 -1.2
H % # 3 59,4921 -2.5 27, 397 0.7 86,889 -1.6
O Om OB E 14, 558 1.0 9,755 -2.3 24,313 -0.4
I I - 1,324| -5.4 4,077| 5.3 5,401 2.4
Ko & 8 1, 255,074 -0.9 689,092 -1.2| 1,944,166| -1.0
B W M F 606, 042] -1.2 314,732 -1.4 920,774 -1.3
(o O E )

w0k o 3 | 1,266,382 -1.1| 678,725| -0.6| 1,945,107 -0.9
LA R ¢ S 30,1221 -3.5 9,407 -0.6 39,529 -2.8
W OE B A& F 1,296,504 -1.1 688, 132] -0.6| 1,984,636| -0.9




